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Monipur Uchcha Vidyalaya and College , Mirpur , Dhaka
Class: IX

Syllabus- 2025
Subject: English 1't Paper

Types of questions and distribution of marks for
L't Monthly Examination-25 Marks

Seen Passage: EFT (For Question Nos. I & 2\
l. Multiple Choice Questions
2.Shortquestions

3. Completing a story

Note: No alternative shall be given for writing part.

Syllabus
1't Monthly Examination

English for Today : Unit: 1,2&3 (MCQ & Short Questions to be practiced)

Completing stories:
a) Unity is strength

b) A friend in need is a friend indeed

c) Slow and steady wins the race

d) Bayazid's devotion to his mother

e) A Thirsty Crow

1x5:5
2x5=10

l0
Total=25 Marks

1.

2.

a1 Ha(,rv.' *-,a'A 9Cr-U&^9 R*(^*'

J, fW* fl/lfrbue frb^
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Subject : English 2,d paper

Types of questions and distribution of marks for

. l.t monthlv examination:

Grammar: 15 marks
l. Gap filling with clues:
2. Substitution Table
3. Right form of verbr!
4. Writing paragraph

0.5x10 = 5
lx5 = 5

0.5x10 =5
l0

Total= 25

Note: No alternative shall be given for writing part.

Syllabus -2025

Grammar:
l. Gap filling with clues:
2. Substitution Table :

3. Right form of verbf :

4. Writing paragraphs:
a) Tree plantation

b) Your School Magazine /A School
c) A Rickshaw puller
d) Load-shedding
e) Child labour in Bangladesh
0 A Road Accident

I't monthlv examination :

Nlagazine

(to be practiced)
(to be practiced)
(to be practiced)
(to be practiced)
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